National Testing Agency

Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

Nanoscience 28th March 2024 Shift 2
Nanoscience

2024-03-28 17:14:16

105

300

Yes

Nanoscience

1
878270654
0

105

No

No

300
No
Cant View

No

Nanoscience

8782701111

1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782702007
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 1 Question Id : 87827053845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

First Law of thermodynamics represents

1. Law of conservation of mass

2. Law of conservation of energy

3. Law of conservation of entropy

4 Law of conservation of momentum

Options :
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Carnot engine is a reversible engine. It can be proved from the

Zeroth Law of Thermodynamics
_ First Law of Thermodynamics

- Second Law of Thermodynamics
. Third Law of Thermodynamics

A I

Options :
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the Hall Effect experiment, one can measure

1. Carrier concenteration

2. Nature of charge carriers

3. Carrier concenteration and Mobility of charge carriers

4 Nature of charge carriers, concenteration of charge carriers as well as their mobility

Options :
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

With the reduction in particle size, optical absorption spectrum shows

1. Blue Shift
2. Red Shift
3. Green Shift
4 Yellow Shift

Options :
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bragg's law of diffraction is used to determine the

1. Crystallite size

2. Crystal structure

3. Particle size

4 Crystal structure as well as particle size

Options :
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A bipolar junction transistor is said to be in active mode if

1. Base-emitter junction is forward biased and collector-emitter junction is reverse biased
2. Base-emitter junction is reversed-biased and collector-emitter junction is forward biased
3. Both the junctions are forward biased

4 Both the junctions are reverse biased
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In a Quantum dot, degree of confinement is

1. Zero
2. One
3. Two
4 Three

Options :
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878270211968. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The failure of Michelson-Morley experiment indicated

1. Existence of ether medium
2. Speed of light i1s directional
3. Speed of light is invarnant
4. Light has dual nature

Options :
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878270211971. 3
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arigid body is dropped from the top of a tower. Midway it splits in two unequal parts. The Centre of mass of the system

1. shifts horizontally towards the heavier part

2. shifts horizontally towards the lighter part

3. doesnot shift horizontally

4 shifts depending on the velocity at the time of split

Options :
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A system in thermodynamic equilibrium satisfies the following requirements:

1. A system iIs in mechanical equilibrium

2. A system is in mechanical equilibrium and chemical equilibrium

3. A system is in mechanical equilibrium and thermal equilibrium

4. A system is in mechanical equilibrium, chemical equilibrium and thermal equilibrium

Options :

878270211977. 1
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Minimum Instruction Time : 0
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Which of the following orbitals will have a radial node?

1. 1s orbital
2. 2s orbital
3. 2p orbital
4 3d orbital

Options :
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primitive cell has _____ lattice point per unit cell

1. one
2. two
3. three
4 four

Options :
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Filling of electrons in degenerate orbitals are governed by:

1. Hunds rule

2. Planck's Law

3. de-Broglie's wave particle duality
4 Photoelectric effect
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Arrange the following radiations in terms of the increasing order of their ionizing power.
(A). X-rays

(B). Beta-particles

(C). Alpha-particles

(D). Gamma-rays

Choose the correct answer from the options given below:

1.(A), (B), (C), (D)

2 {At (B), (D), (C)

), (A), (D), (C)

4 {C; (B), (A), (D)
Options :

878270211993. 1
878270211994. 2
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878270211996. 4
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Minimum Instruction Time : 0
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MNo two particles can occupy the same state is the consegquence of

1. Maxwell-Boltzmann distribution
2. Bose-Einstein Distribution

3. Fermi-Dirac Distribution

4 Classical Distribution

Options:
878270211997. 1

878270211998. 2
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following metals possess highest melting point?

- Sodium (Na)

_ Lithium (Li)

. Potassium (K)
- Cesium (Cs)

L

Options :
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The factors that influence the ionization energy are

. Size of the atom

- Charge of the atom

~ Size and charge of the atom

_ Size, charge and type of electron involved (s, p, d or f)

L

Options :
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878270212006. 2
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The number of gram molecules of a substance present in unit volume is termed as

1. Activity

2. Normal solution

3. Molar concenteration
4 Active mass

Options :
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Amaong the following molecules the one with the highest dipole moment is

1. CHCl
2. CHCl;
3. CHCI5
4. CCly

Options :

878270212013. 1
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878270212016. 4
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Correct Marks : 4 Wrong Marks : 1

Toluene reacts with a halogen in the presence of iron (111) chloride giving ortho and para halo compounds. The reaction is

1. Electrophilic elimination reaction

2. Electrophilic substitution reaction
3. Free radical adition reaction

4. Nucleophilic substitution reaction

Options :

878270212017. 1
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Scanning tunneling microscope works on the principle of

- Quantum mechanical tunneling
. Photoeleciric effect

_ Stefan's Law

- Meissner effect

B T o

Options :
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Strongest acid among the following is

Options :
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The number of isomers for the compound with molecular formula C5BrCIFI is
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Options :
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Which of the following statement is incorrect about sucrose?

. Ordinary table sugar is called sucrose

. Sucrose 1s a disacchande

. sucrose has a molecular formula of C4oH22044

. sucrose gives positive test with Benedict's and Tollen's solution

B T o

Options :
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Which of the following are called artificial atoms?

1. Electrons

2. Molecules

3. Quantum dots
4 H-atom

Options :



878270212037. 1
878270212038. 2
878270212039. 3

878270212040. 4

Question Number : 25 Question Id : 87827053869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-4 5 dd ﬁ%‘h i-ﬁ?; ?HH '-!{J—!-Ul SHEEIG] %’g

1. SOdEH

2 3T
3 DicH Sicd
4. H-GHI]

Options :

878270212037. 1
878270212038. 2
878270212039. 3

878270212040. 4

Question Number : 26 Question Id : 87827053870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which scientist is often referred as the Father of Nanotechnology?

1. Albert Einstein

2. Max Planck

3. Neil Bohr

4 Richard Feynmann



Options :

878270212041. 1
878270212042. 2
878270212043. 3
878270212044. 4

Question Number : 26 Question Id : 87827053870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 IS B UR: AAicaiar @l oH-d del ol 67
2 ﬁ' S

3. =i iR

4 T2 e

Options :

878270212041. 1
878270212042. 2
878270212043. 3

878270212044. 4

Question Number : 27 Question Id : 87827053871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X -rays are used for the detemination of crystal structure because

1. they can travel in vacuum

2. they are mechanical waves

3. their wavelength is of the same order as inter planar spacing in crystals
4. their speed changes with the change of medium

Options :

878270212045. 1
878270212046. 2
878270212047.3

878270212048. 4

Question Number : 27 Question Id : 87827053871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- feor &1 3uTn e d i 3991 I1d S & o foear 9ar & ife

P

1. d Faid 5 g1 & T@dl &

2 3 Oifie i &

3. 3@ duleH fhted H 3R GHdad did & G99 DIl Bl sl &
4. F9®] TTid 91EH URadd & gy uiaidd eidl &

Options:

878270212045. 1
878270212046. 2
878270212047.3

878270212048. 4

Question Number : 28 Question Id : 87827053872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Carbon nanotubes are .. nanostructures

1. zero dimensional
2. one dimensional
3. two dimensional
4 three dimensional

Options :

878270212049. 1
878270212050. 2
878270212051. 3
878270212052. 4

Question Number : 28 Question Id : 87827053872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options:

878270212049. 1
878270212050. 2
878270212051. 3

878270212052. 4

Question Number : 29 Question Id : 87827053873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tendency of an atom to attract electrons to itself when combined in group is called ...

1. workfunction

2. electronegativity
3. polarization

4. catenation

Options :

878270212053. 1
878270212054. 2
878270212055. 3

878270212056. 4

Question Number : 29 Question Id : 87827053873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SelaeHl Bl AU 3R B B B WA 1 98 Hgi o 9 §g H Gaia gl g, @ .. Pl ol g |

1. SH-BeH
3. 4
4 Sfae

Options:

878270212053. 1
878270212054. 2
878270212055. 3

878270212056. 4

Question Number : 30 Question Id : 87827053874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following diode is used in votage-regulation circuits?

1. Photodiode

2. Light Emitting diode (LED)
3. Tunnel diode

4 Zener Diode

Options :

878270212057. 1
878270212058. 2
878270212059. 3

878270212060. 4

Question Number : 30 Question Id : 87827053874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fufafEd o 4 vy Sl &1 SWinT dieeal fafas uRuy o far < 22

1. UBR SMs
2 UHR JHud SIS (Udss)

Options:

878270212057. 1
878270212058. 2
878270212059. 3

878270212060. 4

Question Number : 31 Question Id : 87827053875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In a bipolar junction transistor,

1. Collector Current | = Emitter Current |g + Base Current Ig
2. Emitter Current |g = Collector Current Iz + Base Current Ig
3. Base Current lg = Emitter Current |g + Collector Current l¢
4 base, emitter and collector currents are equal

Options :

878270212061. 1
878270212062. 2
878270212063. 3

878270212064. 4

Question Number : 31 Question Id : 87827053875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fasdia fy gifoex

1. GUED YR |c= Ie&uid YRT |g+3UR URT I
2 IHGd YR | = TARD URT | +3HUR 4RI Ig
3. YR YR Ig = TP YR |g + GUED YR e
4 YR JHei® AR GUE® YRIE I9H &

Options:

878270212061. 1
878270212062. 2
878270212063. 3

878270212064. 4

Question Number : 32 Question Id : 87827053876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Photons are classified as

. Fermions

. Bosons

. Classical Particles
- Nucleons

A

Options :

878270212065. 1
878270212066. 2
878270212067. 3

878270212068. 4

Question Number : 32 Question Id : 87827053876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BREA®D ... & U H Fd [ A B

1. HiEg

2 SGg

3. o oo
4. gfFasig

Options:

878270212065. 1
878270212066. 2
878270212067.3

878270212068. 4

Question Number : 33 Question Id : 87827053877 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is incorrect about Silicon?

_ts atomic number is 14

_ It has semiconducting nature

.t 1s a direct band gap semiconductor

- Silicon is the backbone of semiconductor industry

B A o

Options :

878270212069. 1
878270212070. 2
878270212071.3

878270212072. 4

Question Number : 33 Question Id : 87827053877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafermd & 9R & FufaRad § Q@ & 91 &y 7Tad 22

1. SUSB! U] T 14 B

2. 3ga! Heddhdl ®f UPfd Bl

3. U5 Uoh Y& §8 3iaRiel e o
4. faf® 2rf=ee sam &1 g 8l

Options :

878270212069. 1
878270212070. 2
878270212071. 3

878270212072. 4

Question Number : 34 Question Id : 87827053878 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meissner effect is a phenomenon of

1. Perfect diamagnetism

2. Perfect paramagnetism

3. Perfect ferromagnetism

4 Perfect antiferromagnetism

Options :

878270212073. 1
878270212074. 2
878270212075. 3

878270212076. 4

Question Number : 34 Question Id : 87827053878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OOR UYE U@ 9edl &

1. gui yicgrao@
2 QUi gEEa
3 Ui diggra @

4 gUi Uidciie g ®a

Options :

878270212073. 1
878270212074. 2
878270212075. 3

878270212076. 4



Question Number : 35 Question Id : 87827053879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following process is carried out at constant pressure?

1. Isothermal Process
2. Isobaric Process

3. Adiabatic Process
4 Isochoric process

Options :

878270212077. 1
878270212078. 2
878270212079. 3

878270212080. 4

Question Number : 35 Question Id : 87827053879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFufafaa § O o1 4O uftear Ao g9 ) frarafig ot Sdi 82

1. GHAIYIG Uihdl

2. YIRS Uiehdr

3. 3G ufha

4. TOHTI D Uiehdl

Options :

878270212077. 1
878270212078. 2
878270212079. 3

878270212080. 4



Question Number : 36 Question Id : 87827053880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following would be a linear species?

1. 1Cly
2 Fg
<

4 H,0

Options:

878270212081. 1
878270212082. 2
878270212083. 3

878270212084. 4

Question Number : 36 Question Id : 87827053880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad 3§ 9 o1 WWig ueifd 82

1.ICly"
2 IFg
3. 15

4 H,0O

Options :

878270212081. 1
878270212082. 2
878270212083. 3

878270212084. 4



Question Number : 37 Question Id : 87827053881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In gram staining, cell walls of Gram-positive bacteria become dehydrated during treatment with alcohol

1. Lower Lipid Content
2. Higher Lipid Content
J. Lower Protein Content
4. Higher Protein Content

Options:

878270212085. 1
878270212086. 2
878270212087.3

878270212088. 4

Question Number : 37 Question Id : 87827053881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THRHTH dcbied & 9N ITER & GRH TH-Golied Sl &1 SIRGIHRy FHeiierd gl Sl 82

1. 3fcd fafue am
2. 3 ferfts A
3. e U T
4. 3= WIEH 3B

Options :

878270212085. 1
878270212086. 2
878270212087.3



878270212088. 4

Question Number : 38 Question Id : 87827053882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the polymer of Fructose?

Starch
Glycogen
_Inulin

- Cellulose

AW N -

Options :

878270212089. 1
878270212090. 2
878270212091. 3

878270212092. 4

Question Number : 38 Question Id : 87827053882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el &l dgad ®I- 91 82

1. ®H
PRKIECATE

3. ] qul'_

Options :
878270212089. 1
878270212090. 2

878270212091. 3



878270212092. 4

Question Number : 39 Question Id : 87827053883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a thiol containing amino acid?

- Cysteine

~ Glycine

_ Serine

_ Tryptophan

A o

Options :

878270212093. 1
878270212094. 2
878270212095. 3
878270212096. 4

Question Number : 39 Question Id : 87827053883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafdiad 5 | & 91 YK 9o SEET 3 82

1. R
2. TalgH
3. =

Options :
878270212093. 1

878270212094. 2



878270212095. 3
878270212096. 4

Question Number : 40 Question Id : 87827053884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The antigen specificity of a particular B cell

_I1s induced by interaction with antigen

- Is due to light chain of antibody

_Is due to heavy chain of antibody

_Is determined by heavy and light chain variable region sequence

B T o

Options:

878270212097. 1
878270212098. 2
878270212099. 3

878270212100. 4

Question Number : 40 Question Id : 87827053884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot fay B Sif¥eT &t ufaeH fafpar

1. UfaeH & 91y afrar g uia eidl &
2. Ufaeall ®f seol 4@d & SR el &
3. Uil & YRl #ad & SR gl o

Options :
878270212097. 1

878270212098. 2



878270212099. 3

878270212100. 4

Question Number : 41 Question Id : 87827053885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following properties i1s not exhibited by Ty- cells?

1. Stimulate division of B cells
2. Stimulate division of cytotoxic T cells
3. Are cytotoxic for other cells
4 Stimulate migration of macrophages

Options:

878270212101. 1
878270212102. 2
878270212103. 3

878270212104. 4

Question Number : 41 Question Id : 87827053885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafifad 3 ¥ & 9170 Ty, S gr uelia et fear mr g2

1. B DIf@ra & fqUeH &1 ST &l

2 DI T- IR & [AUSH DI e Bl
3 3 DIfDIst & o HIfHIayl &

4 TETHE® & ATHA B el Bl

Options :
878270212101. 1

878270212102. 2



878270212103. 3

878270212104. 4

Question Number : 42 Question Id : 87827053886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In germ line gene therapy, healthy gene 1s inserted into

. Hepatic cells

- Fibroblast cell

. Endothelium

. sperms or Eggs

B T o

Options:

878270212105. 1
878270212106. 2
878270212107. 3

878270212108. 4

Question Number : 42 Question Id : 87827053886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 491 o4 fafear 8 o=y ofi 9 &f siafdy o erar 2

1. Tpd DIADIY
2 JWHRD DD
3 TR

4 P AT 38

Options :

878270212105. 1



878270212106. 2
878270212107. 3

878270212108. 4

Question Number : 43 Question Id : 87827053887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Restriction Endonuclease type | involved in

1. Endonuclease and Methylase

2. Cleaving and Methylation

3. Cut DNA with in pallindromic sequences

4. Cut DNA with in non-pallindromic sequences

Options:

878270212109. 1
878270212110. 2
878270212111.3

878270212112. 4

Question Number : 43 Question Id : 87827053887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

idee (ARZaRH) TSHYfeRTeS TR | 74 5 ¥ fowd e gl g2
3. fagEHt ol o ST S
4 HGAMAHH HIHH! H ST o

Options :



878270212109. 1
878270212110. 2
878270212111. 3

878270212112. 4

Question Number : 44 Question Id : 87827053888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Ti plasmid of Agrobactenum tumefaciens contains a transposon called

1. T DNA
2. R DNA
3. cDNA
4 A DNA

Options :

878270212113. 1
878270212114. 2
878270212115. 3

878270212116. 4

Question Number : 44 Question Id : 87827053888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UFleaciRgH SHBIYTY & ST (Ti) WIS H U <IGUTgIF gidl 8, ford &gl 9l &

1. T DNA
2. R DNA
3. cDNA
4 ADNA

Options :



878270212113. 1
878270212114. 2
878270212115. 3

878270212116. 4

Question Number : 45 Question Id : 87827053889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MNitrogenase enzyme involved in nitrogen fixation works best in

1. Aerobic condition

2. Anaerobic conditions

3. Insensitive to oxygen

4 in both aerobic and anaerobic condition

Options :

878270212117. 1
878270212118. 2
878270212119. 3

878270212120. 4

Question Number : 45 Question Id : 87827053889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIgcior RRATHIU H T Agciv-s UosH 8 H § Ha9 381 ®1H B ddl 67

1. Iy fRyfd
2. 3{argdiyg fRufd
4 A SR amd gt Rufaat §

Options :



878270212117. 1
878270212118. 2
878270212119. 3
878270212120. 4

Question Number : 46 Question Id : 87827053890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following electromagnetic radiations in the order of decreasing wavelength
(A). Microwaves

(B). Gamma rays

(C). X-rays

(D). Visible rays

Choose the correct answer from the options given below:

1.(A), (D), (C), (B)
2 (B). (C). (D), (A)
3 (B). (A), (D), (C)
4 (C), (B). (D), (A)

Options :

878270212121.1
878270212122. 2
878270212123. 3

878270212124. 4

Question Number : 46 Question Id : 87827053890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aofalad faggd T fafer o uedt aiee & 1 1§ suafiyd &3

(C) Ta-fepeul

(D) ©%0 7 vl

Td feu e fgwedl § 9 98 S| |

Options :

878270212121.1
878270212122. 2
878270212123.3

878270212124. 4

Question Number : 47 Question Id : 87827053891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is correct about electromagnetic waves

(A). sound waves are electromagnetic in nature

(B). they can travel in vacuum

(C). electromagnetic waves are longitudinal ( formation of compression and rarefaction) in nature
(D). X-rays are electromagnetic in nature

Choose the correct answer from the options given below:

Options :

878270212125. 1
878270212126. 2
878270212127.3

878270212128. 4

Question Number : 47 Question Id : 87827053891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofdfEdd Yo dfacgd geeg aim » IR & Uel 8

(A) @ T faggd Te® ™ Udbid B aldl &

(B) d Fafd & o ¥ 9@l &

(C) f[agad T ol UHid B e (Fdied 3R gaydr @ -4 sidl 8|

(D) TR favl faggd T UHia 1 oIl &

=td fau e fadedl & ¥ 981 SR 4|

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. &ad (B)

4 ®ad (B) 3R (D)

Options :

878270212125. 1
878270212126. 2
878270212127.3

878270212128. 4

Question Number : 48 Question Id : 87827053892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement is correct

(A). The stronger the acid, the weaker will be its conjugate base

(B). The stronger the acid, the stronger will be its conjugate base
(C). The larger the pK; of the conjugate acid, the weaker is its base
(D). The larger the pK; of the conjugate acid, the stronger is its base

Choose the correct answer from the options given below:

1. (D) only
2. (B) and (C) only.
3. (A) and (D) only.
4. (B) only.

Options :

878270212129. 1
878270212130. 2
878270212131.3

878270212132. 4

Question Number : 48 Question Id : 87827053892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafRea A Y eI AT HYT T8l &

(A). 3 Tora=1 Ued BFT, 3UHT YT &R 3941 &1 gad aivl

(B). 3 Tora=1 Uad 21T, 3UST Y &R 3941 &1 Wad 8

(C). TG 37 BT pK,, FoTaT1 921 811, IUSHT &R I 8l gad ol ll

(D). TG 35 BT pK,, Fora1 81 BFT, TP &R 31 & Yad gl

=td fau e fadedl & ¥ 981 SR 4|

1.®ad (D)
2 @dd (B) 3R (C)
3. &ad (A) 3R (D)
4. &ad (B)

Options :

878270212129. 1
878270212130. 2
878270212131.3

878270212132. 4

Question Number : 49 Question Id : 87827053893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



All the metal halides have negative enthalpies of formation, so thermodynamically feasible to form them. Arrange the
following halides from most to least negative enthalpies formation for any given metal

(A). Iodide

(B). chloride

(C).bromide

(D) fluoride

Choose the correct answer from the options given below:

A), (C), (B), (D)
A), (B), (C), (D)
D), (B), (C), (A).

(

(
(
(
(D), (C), (B), (A)

1
2
3.
4

Options :

878270212133. 1
878270212134. 2
878270212135. 3

878270212136. 4

Question Number : 49 Question Id : 87827053893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 41 BTSe! 6 @1 BUTeS T B 5, S SWad! FU ¥ 3% S T 31 BUIED Ccdl & AR |
foredt o ¢ & 13 o o Fmforea o) ot e 9 om 36 H oIaiyd Y

(A) EE
(B) TS
(C) FES

(D) TGS
3 fer e fowedt 2 € W SR TN
A) (C), (). (D)
A) (8). (C). (D)
D). (B). (C), (A).
(

(
(
(
(D), (C), (B), (A).

1
2
3.
4

Options :

878270212133. 1
878270212134. 2
878270212135. 3

878270212136. 4

Question Number : 50 Question Id : 87827053894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following oxoacids in the order of their increasing acidic strength
(A). HOCI

(B). HOCl3

(C). HOCl,

(D). HOCl;4

Choose the correct answer from the options given below:

.{Dr (C), (A), (B)
- (B), (A), (C), (D)
3 (A), (B), (C), (D)
4 (C), (A), (E\ (D)
Options :

878270212137. 1
878270212138. 2
878270212139. 3

878270212140. 4

Question Number : 50 Question Id : 87827053894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeiRaa siiaaienal &1 39®] 9gdl i Uaadl & $H H oayd &1
(A). HOCI

(B). HOCI5

(C). HOCls

(D). HOCl4

Td feu e fgwedl § 9 98 S| |

Options :

878270212137.1
878270212138. 2
878270212139. 3
878270212140. 4

Question Number : 51 Question Id : 87827053895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the order of increasing basic strength
(A). NH;

(B). PH;

(C).AsH,

(D). BiH4

Choose the correct answer from the options given below:

1. (A), (C), (B), (D)
2. (A), (B), (C), (D)
(D), ( "' (A)
(

C), (B), (A)

3. (B),
4 (D),

Options :

878270212141.1
878270212142. 2
878270212143.3

878270212144. 4

Question Number : 51 Question Id : 87827053895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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gedl &Y Yaadl & 4 | FHgiiad $f aafud &

(A). NH;

(B). PH;

Options :

878270212141.1
878270212142. 2
878270212143.3

878270212144. 4

Question Number : 52 Question Id : 87827053896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in decreasing order of nucleophilicity
(A). H20

(B).NH3

(C). OH

(D). NHy

Choose the correct answer from the options given below:

Options :

878270212145. 1
878270212146. 2
878270212147.3

878270212148. 4

Question Number : 52 Question Id : 87827053896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofafad o TSR & ged 0§ sgafyd $1
(A) H>O
(B) NH;
(C) OH-

(D) NHy

Options :

878270212145. 1
878270212146. 2
878270212147.3

878270212148. 4

Question Number : 53 Question Id : 87827053897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct order of steps in PCR is:
{A). Annealing

(B).Denaturation

(C). Extension

Choose the correct answer from the options given below:

1. (A), (B), (C).
2. (B), (A), (C).
3.(B), (C), (A)
4 (C), (B), (A).

Options :

878270212149. 1
878270212150. 2
878270212151.3

878270212152. 4

Question Number : 53 Question Id : 87827053897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UII3MR (PCR) H =RUIT &1 H&l & &:
(A) S

(B) fapita

(C) fa%R

=T feu ¢ fadbedl & 9 Ue1 SR 9 |

1. (A), (B), (C
2. (B), (A), (C
3. (B), (C), (A

)
)
)
4.(C), (B), (A)



Options :

878270212149. 1
878270212150. 2
878270212151. 3

878270212152. 4

Question Number : 54 Question Id : 87827053898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following enzymes of Kreb's Cycle is also involved in mitochondrial electron transport system?

1. Citrate synthase

2. Succinate dehydrogenase
3. Malate dehydrogenase

4. |socitrate dehydrogenase

Options :

878270212153. 1
878270212154. 2
878270212155. 3

878270212156. 4

Question Number : 54 Question Id : 87827053898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e I & Mgfcad TongHl § @ & T Argcid ey aaei- URde- W § +ff i g2

1. 93¢ iUy

2. UiFe Ry

3. fie fEerEeas

4. EETGeE SeRga

Options :

878270212153. 1
878270212154. 2
878270212155. 3

878270212156. 4

Question Number : 55 Question Id : 87827053899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Sequential steps of Prophase of Meiosis |
(A). Zygotene
(B).Pachytene
(C).Leptotene
(D).Diakinesis
(E) Diplotene

Choose the correct answer from the options given below:

1. (A), (B), (C), (E), (D).

2. (C), (A), (B), (E), (D).

3. (B), (E). (D), (C), (A).

4. (C), (B), (D), (E).(A)
Options:

878270212157. 1

878270212158. 2



878270212159. 3

878270212160. 4

Question Number : 55 Question Id : 87827053899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C

e faHTSH | & Uithel & 3fIehiHe IRUI &1 el 59 §
(A) STETEN

(B) U

(C) TP

(D). SHBTZRH

(E) fwird

= T Ta o

1< feg ¢ faeedl 5 ¥ 981 SR I

1. (A
2 (C
3. (B
4 (C

B), (C), (E), (D).

), (B)
), (A), (B), (E), (D).
), (E), (D), (C), (A).
), (B), (D), (E).(A)
Options:
878270212157. 1
878270212158. 2
878270212159. 3

878270212160. 4

Question Number : 56 Question Id : 87827053900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The conditions for reversible isothermal process are
(A). Infinitesimally slow process

(B). Infinitely fast process

(C). Constant Pressure

(D). Constant Temperature

Choose the correct answer from the options given below:

1. (A) and (D) only.

2. (A), (C)and (D) only
3. (B), (C) and (D) only
4 (D) only

Options :

878270212161. 1
878270212162. 2
878270212163. 3
878270212164. 4

Question Number : 56 Question Id : 87827053900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SepATITT FH-aTdE ihaT & o 3 &
(A) 3 HTH T 9 €T gicha

(B) 3HIH ¥ ¥ o Hishal

(C). Faa T

(D). FraT 919

Td feu e fgwedl § 9 98 S| |

Options :

878270212161. 1
878270212162. 2
878270212163. 3

878270212164. 4

Question Number : 57 Question Id : 87827053901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Crystalline materials possess

(A). Sharp melting point and boiling point

(B). Anisotropic properties

(C). Periodic arrangement of atoms

(D). Isotropic properties

Choose the correct answer from the options given below:

1. (A), (C) and (D) only
2. (A) and (C) only
3. (A), (B)and (D) only
4 (C)and (D) only

Options :

878270212165. 1
878270212166. 2
878270212167.3

878270212168. 4

Question Number : 57 Question Id : 87827053901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreedig Ui H 8id 3

(A). T TTeHI® IR HYHIS
(B). TauHcRI® T

(C). GTATULSAT B 3MTde] oHawdT
(D). GHGR® 01

I fou T faded! & © 981 SR T

1.@ad (A), (C) 3R (D)

(A)
2 &ad (A) 3R (©)
3 qu (B) 3Tk (D)
&ad (C) 3R (D)

Options :

878270212165. 1
878270212166. 2
878270212167.3

878270212168. 4

Question Number : 58 Question Id : 87827053902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the correct postulates of Quantum theory of light?

(A). Each photon of frequency v has the energy hv, the same as Planck's energy
(B). The higher the v, greater the photon energy hv.

(C). Blue colour has lower energy than green colour.

(D). Changing the intensity of incident light beam will change frequency v of photon.
Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (A), (B) and (D) only.
3. (A) and (B) only
4 (A)and (D) only.

Options :

878270212169. 1
878270212170. 2
878270212171.3

878270212172. 4

Question Number : 58 Question Id : 87827053902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafaRad 3 9 -9 U™ & HicH Hsid &f gl SR g2
(A). AR v & UAS BIcH 8 ol hv Bldl o, Sl T &I Hell & G Bidl 8l
(B). v Fora= 3if&i@ BT Wiei= $wil hv I+t ol 3MU® gifl|

(C). A ¥ H ¥ {1 &1 Ja1 § &1 FHl aidl o

(D). HTuferd HaeTe1 faoxur &1 Hddl &1 dga- 4 BIeH ®1 AR v 96 S|
d feu e fadedl § ¥ U8 SR |

1.®ad (A), (B) 3R (C)
2 ®ad (A), (B) 3 (D)
3. &ad (A) AR (B)
4. @&ad (A) 3R (D)

Options :

878270212169. 1
878270212170. 2
878270212171.3

878270212172. 4

Question Number : 59 Question Id : 87827053903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following species have equal number of electrons. Arrange them in increasing order of their size

(A). Ne

Options :

878270212173. 1
878270212174. 2
878270212175.3
878270212176. 4

Question Number : 59 Question Id : 87827053903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FEcRad Tafod! § SadciHl &1 %01 §AM g1 36 S-d AER & Sgd o5 H Hayd 1|

(A). Ne
(B). Na*
(C). 0%
(D). F
i fer U fewedl § € 98 SR |
1. (A), (B), (C), (D)
2. (B), (C), (A), (D)
3. (B), (A), (D), (C)
4. (D), (C), (A), (B)
Options :

878270212173. 1
878270212174. 2
878270212175. 3

878270212176. 4

Question Number : 60 Question Id : 87827053904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ldentify the correct statements with reference to VSEPR theory
{(A). lone pairs causes more repulsion than double bond

(B). Double bonds cause more repulsion than a single bond
(C). Triple bonds cause more repulsion than a double bond
(D). Single bonds cause more repulsion than a lone pair
Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), and (C) only.

3. (A) and (B) only

4 (B), (C)and (D) only

Options :

878270212177.1
878270212178. 2
878270212179.3

878270212180. 4

Question Number : 60 Question Id : 87827053904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dTsdeR sid & doy ¥ U oy & UgdH &1
(A) THID] Il Tg 3y & Jor-l § 3ffed Ufadyu & R §d §

(B) Te3TeY, Udhd Y BT o1 H S Uidhyu &1 SR §d B

(C) Famdy fgamdy & ga-1 | +ifie ufasyu &1 dRUsHd 8 |

(D) Ul 3M6Y Uehlh] Tl &I qol H (9D HidHyU & SR §d o

=td fau e fadedl & ¥ 981 SR 4|

1.@ad (A), (B) 3MR(C)
2 @dd (B) 3R (C)
3. &ad (A) 3R (B)
4. @dd (B), (C) 3R (D)

Options :

878270212177.1
878270212178. 2
878270212179.3

878270212180. 4

Question Number : 61 Question Id : 87827053905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following arrangements does not represent the correct order of property stated against it?
(A). V¥ < Cr®* < Mn?* <Fe?* - Paramagnetic behavior

(B). Zn¥ < Cr* < Ni** <Fe?*  : number of unpaired electrons

(C).Sc<Ti<V=<Cr=<Mn number of oxidation states

(D). Co** < Cr¥* < Mn* < Ni** - stability in aqueous solution

Choose the correct answer from the options given below:

1.(A), (B) and (C) only.
2. (A)and (C) only
3.(A), (B)and (D)
4.(B), (C)and (D) only

Options :

878270212181. 1
878270212182. 2
878270212183. 3

878270212184. 4

Question Number : 61 Question Id : 87827053905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e

Frofafad ¥ 9 oF W ooawi1 3R 396 9 ford 701 98l 8 § Feiud T8l
(A) V2* < Cr¥* < Mn?* < Fe2* : Uiddedad

(B) ZnZ* < Cr¥* < Ni2* < Fe?* - Jiid SciaeHl &1 Y&

?

(C)Sc<Ti<V<Cr<Mn - HTRITHT 3G B T=AT
(D) Co®* < Cr¥* < Mn®* < Ni* oiaiig faags # fRuwan
4 feu e fadedl § 9 98l W H|

1. %4d (A), (B) 3R (C)
2 &ad (A) 3R (C)

3. &ad (A), (B) 3R (D)
4 &ad (B), (C) 3R (D)

Options :

878270212181. 1
878270212182. 2
878270212183. 3

878270212184. 4

Question Number : 62 Question Id : 87827053906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process of vulcanization makes rubber

{A). soluble in water

(B). elastic

(C). hard

(D). soft

Choose the correct answer from the options given below

(A), (B) and (D) only.
(B) and (C) only

(B) and (D).
(B) only.

2.
3:
4
Options :

878270212185. 1
878270212186. 2
878270212187.3

878270212188. 4

Question Number : 62 Question Id : 87827053906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=

om0 & Uiehdl gR1 §9- aia @ 8idl &

(A) UFT H gaeid
(B) T

(C) 3R

(D) BIHFd

1. @ad (A). (B) 3R (D)
) 3R (C)

B
B) 3R (D)
B

Options :

878270212185. 1
878270212186. 2
878270212187.3

878270212188. 4

Question Number : 63 Question Id : 87827053907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following will give benzoic acid on acidic hydrolysis
{A). Phenyl cyanide

(B). Benzimidazole

(C).Benzoic anhydride

(D). Methyl benzoate

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (A), (C)and (D) only
3. (A), (B), (C) and (D).
4. (C)and (D) only.

Options :

878270212189. 1
878270212190. 2
878270212191.3

878270212192. 4

Question Number : 63 Question Id : 87827053907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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FofcRad # 9 &F 91 31T oid 3ge I Solis® 30 ol

(A) Th1ISd I35 8

G EIEIEEEIS]

=td fau e fadedl & ¥ 981 SR 4|
1. @ad (A) 3R (D)

2 ®ad (A), (C) 3R (D)

3. (A). (B), (C) 3R (D)

4 ®dd (C) 3R (D)

Options :

878270212189. 1
878270212190. 2
878270212191.3

878270212192. 4

Question Number : 64 Question Id : 87827053908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(A). CCly

{1). refrigerant

(B). CF2Cla

(). insecticide

(C). CHI;

(). propellant for aerosols

(D). CH2Clz

{IV). Antiseptic for wounds

Choose the correct answer from the options given below:

1. (A) - (I11), (B) - (1), (C) - (I}, (D) - (IV}

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4 (A) - (), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270212193. 1
878270212194. 2
878270212195. 3

878270212196. 4

Question Number : 64 Question Id : 87827053908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3R -1l BT HAE B
- Tt

(A)CCly |(1) Wil

(B) CFaCl |(I1) BIeA=IE

(C) CHI3  |(111) TXIEITT o fere wulige
(D) CHaClo{ (1V) Tral & forg wfdafde
=4 feg e fawedl & § 981 I 4|

1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (111)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1l1)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212193. 1
878270212194. 2
878270212195. 3

878270212196. 4

Question Number : 65 Question Id : 87827053909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two metals are completely miscible with each other to form a continuous range of solid solution only if
(A). two metals must be similar in size-their metallic radii must not differ by more than 15%

(B). both metals must have same crystal structure

(C). the chemical properties must be similar- particularly same frequency

(D). both metals must have the same electrical conductivity

Choose the correct answer from the options given below:

Options :

878270212197. 1
878270212198. 2
878270212199. 3

878270212200. 4

Question Number : 65 Question Id : 87827053909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) &I T3l BT HBR THH BT 1fe-3a! arg B # 15 ufawra ¥ HfE &1 SR T8l g1 diigy

(B) &M U3l @ foped WX §0M & Tfet

(C). TG 0 T g TIRU-faRivaR §aH S

(D) B 41Tt &1 fdgyd didal 9H M1 91iey
4 fou 0 fadedl 7 € 98 SR |

1. %ad (A) 3R (D)

2 %ad (A), (B) IR (C)
3. (A), (B), (C) 3R (D)
4 $ad (B) AR (C)

Options :

878270212197. 1
878270212198. 2
878270212199. 3

878270212200. 4

Question Number : 66 Question Id : 87827053910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following structures in terms of increasing order of confinement
(A). Quantum Well

(B). Bulk material

(C). Quantum Dot

(D). Carbon Nanotube

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
2.(B), (A), (D), (C)
3. (C), (B), (A), (D)
4 (D), (B), (C), (A)

Options :

878270212201. 1
878270212202. 2
878270212203. 3

878270212204. 4

Question Number : 66 Question Id : 87827053910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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URFS (confinement) & Fed H & TaY | FufeRad Wa=msi o sqafyd &

(A) Hicq 3T

(B) R Tar

(C) BicH Sie

(D) BTeH g

4 feu e fawedl © O g SR 91|

1. (A), (B), (C), (D)
2. (B), (A), (D), (C)
3. (C), (B), (A), (D)
4 (D), (B), (C), (A)

Options :

878270212201. 1
878270212202. 2
878270212203. 3

878270212204. 4

Question Number : 67 Question Id : 87827053911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-Il

System Axial lengths and angles

(A). Cubic (I).a=b#c,a=p=90° y=120°
(B).Tetragonal (I.aZb#c, a=p=y=90°

(C). Orthorhombic

(). a=b#c,a=p=y=90°

(D). Hexagonal

(IV).a=b=c,a=f=y=90°

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (I}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (), (D) - (1T}

4. (A) - (IV), (B) - (I}, (C) - (In), (D) - (1)
Options :

878270212205. 1
878270212206. 2
878270212207. 3
878270212208. 4

Question Number : 67 Question Id : 87827053911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3R -1l BT HAE B

Gl gl

et 3fafta TaTs SR B

(A) T-TH ().a=b#c, a=p=900,y=120°
(B) emom&|(1l). a£b#c a=p=y=90°

(C) fawweramas|(11). a=b# c.a=p =y = 90°
(D)Sesui |(IV).a=b=c a=p=y=90°

1.(A) - (IV), (B) - (11}, (C) - (IlT), (D) - (I)
2. (A) - (), (B) - (IlN), (C) - (I, (D} - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1T}
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

Options:

878270212205. 1
878270212206. 2
878270212207.3
878270212208. 4

Question Number : 68 Question Id : 87827053912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-lI

Type of Crystalline Solid

Example

(A). lonic

(). Methane, CH4

(B). Covalent

(I). Copper, Cu

(C). Molecular

(lll). Sodium Chloride, NaCl

(D). Metallic

(V). Diamond, C

Choose the correct answer from the options given below:

1. (A) -
2. (A)-
3. (A) -
4 (A)-

1), (B) -
1), (B) -
i), (B) - (
1), (B) -

(1. (
(1. (
1), (
(IV), (C

— — S —

Options :

878270212209. 1
878270212210. 2
878270212211.3

878270212212. 4

C)-

D
(1), (D
(IV), (D

(., (D) -

C) -
C)-

1) (IV
(IV

(1

(), (D) - (V)
I1), (D) - (IV)

L)]
)= (1)

Question Number : 68 Question Id : 87827053912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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it Al
frecdia 519 ©1 ¥oRBgEIT

(A) HAHE (1) JidF, CH,

(B) Geoaa® (1) B, Cu

(C) HTIa® (1) AIfETH FRES, Nacl
(D) HTic® (IV) BT, C

TR e T At § T 98 SR

1. (A) - (1), (B) - (11), (C) - (1), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (11}, (D) - (IV)

3. (A) - (11}, (B) - (), (C) - (IV), (D) - (1)

4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212209. 1
878270212210. 2
878270212211.3

878270212212. 4

Question Number : 69 Question Id : 87827053913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-l

Quantum Numbers

Permissible values

(A). Principal Quantum Number (n)

(1). 1/2, 172

(B). Azimuthal Quantum Number ()

(m =123, ...

(C). Magnetic Quantum Number (m)

(. =0, #1, 2, 73, ...

+f

(D). Spin Quantum Number (s)

(V).=0,1,2.73F ...

(n-1)

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (I1N), (D) - (I}

2. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (IV), (B) - (IN), (C) - (lIr), (D) - (1)

4. (A)-(IV), (B) - (IN, (C) - (1), (D) - (1T}
Options :

878270212213. 1
878270212214. 2
878270212215. 3

878270212216. 4

Question Number : 69 Question Id : 87827053913 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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it -l
" u o E 'q\a[
(A) T BEHIE(n) |(I). 1/2-1/2
(B). farm=ht wead=m () |(I1).=1.2, 3. ...

(C). duha wicH J&=1 (m)|(Il). = 0, F1, F2, F3, . F
(D). FEeR Ul @icH S8 (s) |(IV).=0,1,2, 3, .. (n-1)
i feT 7T fadedl H § 981 IR I |

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
2. (A) - (I1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) - (IV), (B) - (I1), (C) - (1), (D) - (11}

Options:

878270212213.1
878270212214. 2
878270212215.3
878270212216. 4

Question Number : 70 Question Id : 87827053914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

The effects of bonding and lone pairs on shape

List-| List-ll

(A). XeF5|(l). Trigonal Planar

(B). BF5 |(Il). Distorted octahedral

(C). XeFg|(lIl). Linear

(D). 5Fg |(IV). Regular Octahedral

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C} - (I1), (D) - (IV)

2. (A)- (1), (B) - (1), (C) - (11}, (D) - (IV)

3. (A) - (IV), (B) - (), (C) - (1D, (D) - (1)

4. (A)- (1IN, (B) - (IV), (C) - (1), (D) - (1l
Options :

878270212217. 1
878270212218. 2
878270212219. 3

878270212220. 4

Question Number : 70 Question Id : 87827053914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HTEY R THID! T P HBR W UHG

gt [

(A). XeFs|(1). Bra®g gaauyg
(B). BF3 |(). faed apwaag
(C). XeFg|(lll). ¥E®

(D). SFg |(IV). Fraft@ siywaea
- feu e famedl § 9§ 981 3ok I |

1. (A) - (), (B) - (1), (C} - (11}, (D} - (IV)
2. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - ()
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270212217.1
878270212218. 2
878270212219.3

878270212220. 4

Question Number : 71 Question Id : 87827053915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Linus Pauling (1). Alpha particle scattering experiment

(B). Albert Einstein (I1). Photoelectric effect

(C). Ernest Rutherford|(ll). Electronegativity

(D). Max Planck (IV). Black body radiation

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}

2. (A) - (1), (B) - (I1), (C) - (IM), (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (1), (D) - (I1)

4. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)
Options :

878270212221. 1
878270212222. 2
878270212223. 3

878270212224. 4

Question Number : 71 Question Id : 87827053915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tal-1 3R il &7 FaH &3
- i1l

(A). TS GTERT |(1). 3HThT &0 Wb 01 HaRT
(B). 3THC SR H|(Il). FHRIAEId WHE

(C). 3T TEXEIs|(IIl). fagga wumesar
(D). B & |(IV). BT fafewr

i feT 7T fadedl # § 981 SR I |

1. (A) - (1), (B) - {I!} (C)- (1), (D} - (IV)
2. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)
3. (A) - (IV), {EE}-{III) (C) - I} (D) - (1)
4. (A) - (1), (B) - (11). (C) - (IV), (D) - (1)

Options:

878270212221.1
878270212222.2
878270212223.3

878270212224. 4

Question Number : 72 Question Id : 87827053916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-|

List-l List-l

Enzymes Activity

(A) Alkaline phosphatase|(l). cleaves DNA

(B) DNA Polymerase | |(Il). cleaves only ssDNA

(C) Sl Nuclease (111). Nick translation

(D) DNase | (IV). removes phosphate group present at ' end of DNA

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (I1T), (C) - (), (D) - (1)

2. (A) - (1), (B) - (111), (C) - (In), (D) - (IV)

3. (A)- (1), (B) - (I, (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (11}
Options :

878270212225. 1
878270212226. 2
878270212227.3

878270212228. 4

Question Number : 72 Question Id : 87827053916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gal-1 3R Tl T e &3

- St

(A) 4T EEEe  |(1). DNA & fageq

(B) ST GIeitAed 1[(11). Taa ssDNA &1 fageq

(C) SI faTta () F& arae

(D) SiET | (IV). DNA & 5' SR T Hi9g FIehe GHE &I o=
- feu e famedl § 9§ 981 o) I |

1.(A) - (IV), (B) - (Il), (C) - (1), (D) - (I)
2. (A) - (1), (B) - (IlT), (C) - (1), (D} - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212225. 1
878270212226. 2
878270212227.3
878270212228. 4

Question Number : 73 Question Id : 87827053917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

Group | Group Il

(A). IgA (). Basophils

(B). IgE (I). Secretory components
(C). IgG (IIl). Pentamer

(D). lgM (IV). Crosses Placenta

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (IV), (D) - (1T}

2. (A) - (1), (B) - (llT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270212229. 1
878270212230. 2
878270212231.3

878270212232. 4

Question Number : 73 Question Id : 87827053917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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il Tt
(A) IgA |(1) &R
(B) IgE (1) 9T€! 92
(C) IgG () U=t
(D) IgM|(1V) T ¥ Tekal &

- feu e famedl § 9§ 981 3R I |

1..(A) - (1), (B) - (), (C) - (IV), (D) - (1)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212229. 1
878270212230. 2
878270212231.3

878270212232. 4

Question Number : 74 Question Id : 87827053918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

Vitaimins Co-enzymes

(A). Thiamine (B1) |(I). Riboflavin adenine nucleotide

(B). Riboflavin (B2)((Il). Tetrahydrofolic acid

(C). Niacin (II1). Nicotinamide adenine dinucleotide

(D). Folic acid (IV). Co-carboxylase

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (IlT), (D) - (11}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270212233. 1
878270212234. 2
878270212235. 3

878270212236. 4

Question Number : 74 Question Id : 87827053918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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faerim HE-OagH
(A) UEEA (By)  |(1) TEEIRIGH TefA Afdaaies s
(B) IZEIFIE (Ba)|(Il) TCRIS SRS 3

(c) Frafim (ny FaifeaEs wehE Tafdmers
(D) ®ifeE o |(IV) B-SEaaad
-d fu TTe fadedl § © 98! 3R |

1.(A) - (IV), (B) - (1), (C) - (I1I), (D) - (1)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (D), (B) - (1), (C) - (IV), (D) - (IlT)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270212233. 1
878270212234. 2
878270212235.3

878270212236. 4

Question Number : 75 Question Id : 87827053919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

Series n=

(A). Lyman ((1).234..

(B). Balmer |(Il). 34,5, ...

(C). Paschen

(D). Brackett

(). 456,

(IV). 5,6,7,...

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (111}, (D) - (IV)

2. (A)- (1), (B) - (1), (C}- (11}, (D) - (IV})

3. (A)-(D), (B) - (1N, (C) - (IV), (D) - {III]

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270212237. 1
878270212238. 2
878270212239. 3

878270212240. 4

Question Number : 75 Question Id : 87827053919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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gt [

J@ar  |n=

(A). TTEHA|(1). 2.3.4.
(B). IR [(1). 3.4,5. ...

(C). T |(11). 4.5.6, ...

(D). € |(IV). 5.6.7....

-d feu TTe fadedl § © 981 3w |

1. (A) - (D), (B) - (1), (C) - (1T}, (D) - (IV)

2. (A) - (1), (B) - (l1), (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1T}

4_(A) - (1), (B) - (IV), (C) - (1}, (D) -
Options :

878270212237. 1
878270212238. 2
878270212239. 3

878270212240. 4



